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Week commencing 08/06/2020



Hey Everyone!

We hope you all had a good half term break and are staying healthy and happy.

[bookmark: _GoBack]
In maths this week you will begin to look at algebra. 






For reading, you will have sections of mock SATs papers, along with some questions that focus on 3 mark answers.

Don’t forget, if you need us we are still here for you – just email the Year 6 email address and we will respond as soon as we can!

Have a great week – you are all doing a super job!



















































Wednesday 10th June 2020



Spellings

Use the words below in a sentence

Challenge: can you use all of the words in just one sentence?
Or can you use all of the words in a cohesive paragraph, about just one topic?



1. accommodate
2. accompany
3. according
4. achieve
5. aggressive

































Reading
 
 
This is an introduction to Stephen Halliday's book The Great Stink of London. During Victorian times, there were serious problems with water supply and sanitation in London. Crisis point was reached in the summer of 1858.
The Great Stink of London
In the mid-19th century, Britain was gripped by the fear of cholera, a highly infectious and deadly disease. When cholera struck Hamburg in Germany, the British government grew alarmed that this latest outbreak might spread to Britain. They decided to create a special committee to deal with the expected epidemic.
However, the epidemic never happened because of the work of one man: Sir Joseph Bazalgette.
	At that time, London’s sewage flowed straight into the River Thames. From here it leaked into adjacent springs, wells and other sources of drinking water. This was the root cause of cholera, a waterborne disease. Contemporary accounts describe London being crowded with men, women and children struggling to survive in terrible conditions. In 1849, one journalist reported that the air had 'the smell of a graveyard, and a feeling of nausea comes over anyone unaccustomed to it.' About the Thames, he wrote, 'heavy bubbles now and then rise up in the water, which is covered with a scum like an encrusted cobweb. In it float large masses of noxious, tangled weed and against the posts of the bridges are swollen carcasses of dead animals.'


[image: ]
In the summer of 1858, the stench from the Thames was so bad that Members of Parliament fled from the rooms overlooking the river. The Prime Minister, Benjamin Disraeli, rushed from the debating chamber, handkerchief to nose. The press called the crisis The Great Stink. Disraeli introduced to Parliament a Bill that gave Bazalgette the authority to construct the sewers which he had designed; it was rushed through within sixteen days and Bazalgette began work immediately.
 
	By 1874 Bazalgette had completed his ingenious scheme. He designed a grand system of drains and sewers to carry foul water to new pumping stations and holding tanks, and new embankments to make the river cleaner. In all, he built 1,182 miles of sewers, four pumping stations and two major water treatment works which are still operating to this day.
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Bazalgette did much else besides. He designed and created many famous London streets and several magnificent bridges across the River Thames, including Tower Bridge, a present day London landmark. In fact, Bazalgette created more of London than anyone else before or since. But his greatest claim to fame is the system of sewers, which banished cholera forever and which still serve the capital city to this day.
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1        Award 1 mark for two correct answers, 1 for paragraph 1 (In the mid-19th century) and 1 for paragraph 4 (In the summer); award 0 marks for one or no correct answers:
paragraph 1 (In the mid-19th century):
♦        (Britain was) gripped by the fear (of cholera a highly infectious and deadly disease).
♦        (The British government) grew alarmed (that this latest outbreak might spread to Britain).
♦        (They decided to create a) special committee (to deal with the expected epidemic).
paragraph 4 (In the summer):
♦        (The press called the) crisis (the Great Stink)
♦        (Disraeli) introduced to Parliament a Bill
♦        a bill that gave Bazalgette the authority to construct the sewers (which he had designed)
♦        (it was) rushed through (within sixteen days)
♦        (Bazalgette) began work immediately
Also accept a combination of bullets 5 and 6 or of bullets 7 and 8
1 mark
2.       Award 1 mark for:
•        modern.
1 mark
3.       Award 1 mark for an explanation that recognises what the writer's choice of language tells us, linked to one of the following ideas:
♦        Answers which recognise that the river was extremely dirty / unpleasant.
•        It tells us very effectively that the river was disgusting.
♦        Answers which recognise that it is dangerous.
•        It's like a trap.
•        It's harmful.
Comments must be rooted in the text.
Also accept answers that focus on how dirty it is by using an intensifier, eg really.
Do not accept answers that identify dirty without an intensifier.
1 mark
4.       Award 2 marks for two correctly ticked boxes.
Award 1 mark for one correctly ticked box.
Award 0 marks for answers where more than two boxes are ticked.
 
	"It was essential we started straight away. We had to work quickly, there was no time to lose."
	 

	"I was really just responsible for the construction work. I was given a brilliant design to follow."
	 

	"Our London sewerage system was built to last."
	 

	"Everything I have built is hidden beneath the streets."
	 


up to 2 marks
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Maths Answers
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Find a Rule - One Step

Find a Rule - One Step

Ta. 1 Jil has 32 sfickers and Lark has
‘more than 17, butfewer than Jil, how
‘many slickers could he have?

What function could be used fo show this?

1b.1f Molly has 25 berties and James has
fewer fhan 40, but more fhan Molly, how
‘many berries could he have?

What funcfion could be used fo show this?

(Cinpot ) (Foncion:) (Gutpwt ) | (Cimpot: ) (Foncton ) (ouipot )
L= l I: )| )
Find 3 possible soufons. Find 3 possible soluions.

2a. ff he function for the number of horses
s the number of Sparkans + 13, how many

2b. If the funcfion for the number of
ragons is the number of knighls 9, how
‘many dragons are fhere?

i3I RY
PERERES

Explain your reasoning.

3a. Four of the cards are inpuls o oufpuls.
of the function machine below.

Circle the odd one out.

3b. Four of the cards are inputs or outputs
ofthe function machine below.

Circle the odd one out.

LIl

DOmE

(Ciopot ) (Foncion:) (Gutps )

(Cinpot ) (Foncion:) (Gutou )
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4a. If Sancha has 27 marbles and Kai has.
‘more than 20, but fewer than Sandra, how
‘many marbles could he have?

What function could be used fo show this?

4b. 1 Gina has 18 sweets and Abdul has
fewer than 29, bul more than Gina, how
many sweels could he have?

What funcfion could be used fo show this?

(Cinpot ) (Foncion:) (Gutputs )

(Cinpot ) (Fonc

(Couteut )

=R .

Find 3 possible solufions.

Find 3 possible soluions.

Sa. ff he function for the number of
wizards is the number of ninjas x 7. how
‘many wizards are fhere?

KERRR
KXKR

Explain your reasoning.

b, I fhe function for the number of orcs is
the number of barbarians = 3, how many
orcs are there?

Explain your reasoning.

‘6a. Four of the cards are inpuls o oufpuls.
of the function machine below.

Circle the odd one out.

b Four of the cards are inputs or outputs
ofthe function machine below.

Circle the odd one out.

L) (o) (o] (o

=) =)=

(oot (Fonc

x4

Explain your reasoning.
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7a. f Mika has -£6.70 n his account, and
‘Yasmin has more fhan -£17.50, but less.
than Mika, how much money could she.
have in her account?

What function could be used fo show this?

7b. If Davina has used 0.45kg of a bag of
flour and Jackson has used less than
0.55kg, but more than Davina, how much
flour could he have used?

What funcfion could be used fo show this?

(Ciopot ) (Foncion:) (Gutpwt ) | (Cimpot: ) (Foncton ) (oot )
‘u.ml!?l; ) )
Find 3 possible soufons. Find 3 possible soluions.

8a. f a 2.8L boftle of pop s shared
between 20 cups, what would the output
per cup be?

Explain your reasoning.

b 15 ot 0m carpe s e nia 10

ships, what would the output of each skip
of carpet be?

FZ:: N\

Explain your reasoning.

= R

9a. Four of the cards are inpuls o oufpuls.
of the function machine below.

Circle the odd one out.

9b. Four of the cards are inputs or outputs
ofthe function machine below.

Circle the odd one out.

() (=)L) (=) ()

(193] (164 a7 ] [-54] (166

(Ciopot ) (Foncion:) (Gutpts )

(Cinpot ) (Foncion:) (Gutot )

Ca[9). )

Explain your reasoning.
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Developing
Ta. Various answers, for example:
10, 22 sfickers; - 9, 23 shickers;
stickers.

2a. There are 23 horses. Various answers,
for example: This is because there are 10
Sparlans; if the function for the number of
horses is the number of Spartans + 13, then
the calculafion to work fhis outis 10 + 13 =
23

3a.5 s the odd one out because 6+ 8=
14and8+8=16.5+ 8= 13, but there is
o number card for 13 (to match 5).

8,24

Expected

4a. Various answers, for example:
6,21 marbles; - 5, 22 marbles: 4, 23
marbles.

Sa. There are 63 wizards. Various answers,
for example: This is because there are 9
the function for the number of

the calculafion to work this outis 9.x 7 =
3,

6a.54is the odd one out because 42+
7and 246+ 6=41.54%6 =9, butthereis
o number cardfor 9 (fo maich 54).

Greater Depth
7a. Various answers, for example:

—£6, -£12.70;- £7, -£13.70; - £8, £14.70.
8a. Various answers, for example:

The oufput per cup would be 0.14L o
140m. This is because fhe funclion for the
calculation would be * 20 (because fhere
are 20 cups), so the calculation fo work

1 and 48 x 0.75 = 36. 12 x 075 = 9,
no number cardifor 9 (fo.

Developing
Tb. Various answers, for example:

+,30 berries: + 6, 31 beries: + 7, 32
berres.

2b. There are § dragons. Various answers,
for example: Thisis because there are 15
knighis; f he function for the number of
chagons is the number of knighls - 9, then

3b. 10is the odd one oul because 15 -6 =
9and7-6=1.10-6 = 4, but fhere is no
number card for 4 (fo malch 10).

Expected
- Various answers, for example:

+ 10,28 sweels: + 9, 27 sweels: + 8, 26

sweets.

5b. There would be 4 orcs. Various

answers, for example: This is because:

there are 12 barbarians: if the function for

the number of orcs is the number of

barbarians = 3, then fhe calculafion fo

work fhis outis 12= 3= 4,

6b.8s the odd one out because 52x 4

208 and 9x 4= 36.8 x 4= 32. but ther

o number card for 32 (o match 8).

Greater Depth
7b. Various answers, for example:
+0.0Tkg, 0.4ékg of flour; + 0.02%kg,
of flour; + 0.03kg, 0.48kg of flour.
8b. Various answers, for example:
The outputof each i of carpel would
be 62.5cm or 625mm. This is because

of 10m is 6.26m or 625cm. This number
then = 10 (because tis cutinfo 10 stips)
which is the funcion of the calculation;:
the final calculafion fo work this outis 6.25
+10=0.625.

9b.-16.6 i the odd one out because -18.3
+12.9=-54and 37+ 129 = 166,166+
129 = -3.7, but there is no number card for
3.7 (1o maich -16.6).

47kg
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long jump pole vault high jump

Are there any other jumping events not here
that you know of?

@ There are many different jumping events in athletics.
Can you label the pictures with
the correct jumping event?

B
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